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QUESTION 1

What are two characteristics of fiber optic cable? (Choose two.) 

A. Conducts electricity 

B. Requires metal conduit 

C. Supports splicing 

D. Requires a polish for end connectors 

Correct Answer: CD 

C: A mechanical splice is a junction of two or more optical fibers that are aligned and held in place by a self-contained
assembly (usually the size of a large carpenter\\'s nail).[1] The fibers are not permanently joined, just precisely held
together so that light can pass from one to another. 

D: Modern connectors typically use a "physical contact" polish on the fiber and ferrule end. This is a slightly convex
surface with the apex of the curve accurately centered on the fiber, so that when the connectors are mated the fiber
cores come into direct contact with one another. 

Note: Optical fiber connectors are used to join optical fibers where a connect/disconnect capability is required. Due to
the polishing and tuning procedures that may be incorporated into optical connector manufacturing, connectors are
generally assembled onto optical fiber in a supplier\\'s manufacturing facility. 

 

QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

The 802.11n wireless standard specifies a maximum data rate of 54 Mbps. 

Review the underlined text. If it makes the statement correct, select "No change is needed." If the statement is incorrect,
select the answer choice that makes the statement correct. 

A. 10 Mbps 

B. 11-128 Mbps 

C. 300-600 Mbps 

D. No change is needed 

Correct Answer: C 

 

QUESTION 3

What are two advantages of using star topology rather than ring topology in a computer lab workgroup? (Choose two.) 

A. Failure of a central connectivity device does not bring down the entire network. 
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B. A central connection point allows for flexibility and scalability. 

C. Data travels on redundant paths, so one cable cannot stop its transmission. 

D. A cable problem within the group affects two nodes, at most. 

Correct Answer: BD 

 

QUESTION 4

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area: 

Correct Answer: 
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QUESTION 5

Which feature of Category 5e STP cable reduces external interference? 

A. Crosstalk 

B. Shielding 

C. Length 

D. Twisting 

Correct Answer: D 

Twisted pair cabling is a type of wiring in which two conductors of a single circuit are twisted together for the purposes of
canceling out electromagnetic interference (EMI) from external sources. 

98-366 PDF Dumps 98-366 Study Guide 98-366 Exam Questions

Powered by TCPDF (www.tcpdf.org)

98-366 PDF Dumps | 98-366 Study Guide | 98-366 Exam Questions                                4 / 4

https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
http://www.tcpdf.org
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html

